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Ex-5 -B 

2-Fil in he blnn kc. 0 

thes e enta)ly 

a 2X 11= 32 

4x 12 = 16 8 

5x12 1 5 

1xl2=1 2 

C1x 16 2 5 
6x5 22 



Date 

pog 
L3 x1 

25xl000- 25000 
3x0 00 24 0p0 

2- 3 226 

3226 

he Paodect 

S56, 6HO. 

x43 

The produc 
is 750, q62 S 

7 12 

5095 2 

5 



Date 

Poge 

25 12 

2 5 
X 2 

3 g 0 
t215 00 

b209 6 

S23 332 

5 3 g3 
332 

0 6 6 6 

178 S 
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Multiply 

Date 

Pag 

32 262 

3 
2 

2 
37 y 

+Y 2 8 

BLE8B 8 

35 

6I6 

35 
(O 

2 

21 



Date 

Page 

1871Y Yx1?6 

17 6 

122 3 12 2g y 

6013 66 

he8%00 x 323 

323 

26 58 

42 65 O00 

2BC700 
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133 Y8 10 2 

33 48 I0 
2 

1G2 20 
031O10 
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